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QUESTION 1

Refer to the exhibit.

FCO0001# show zone active
zone name hbal VN0OOO1l wvsan 3201

feid 0x970209 [pwwn 50:ab:0b:00:00:c2:8f:de]
* feid 0x970102 [pwwn 20:ba:00:a0:98:3b:6f:d8]

zone name hbal VNOO0OZ wvsan 3201
* feid 0x970200 [pwwn 50:ab:0b:00:00:c2:8a:67]
fcid 0x9700c2 [pwwn 20:ba:00:20:98:3b:61:99]

The initiator that has FC ID 0x970102 fails to communicate with the target that has FC ID 0x970200. Which action
resolves the issue?

A. Reconfigure the initiator and the target to be in the same zones.

B. Reactivate the zoneset.

C. Reset the port for FC ID 0x970102 and FC ID 0x970200 to log in to the fabric.
D. Reset the port for FC ID 0x970209 and FC ID 0x9700c2 to log in to the fabric.

Correct Answer: B

QUESTION 2

An engineer troubleshoots a Cisco UCS B-Series environment and discovers that the status of the CNA is degraded in
the CLI and the Cisco UCS Manager GUI. What should be done to resolve the issue?

A. Seat the blade server correctly in the chassis.

B. Install the adapter firmware version that is compatible with Cisco UCS Manager.
C. Install the server air baffles correctly.

D. Use the supported adapter on that server model.

Correct Answer: D

QUESTION 3
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Refer to the exhibit.

switch# config t
switch(config)# event manager applet track int up
switch (config-applet)# event track 1 state up

switch(config-applet)$# action 1 syslog msg EEM applet track int down
bringing up port ethl/2 due to ethl/l being down

swizch(config-applet)$# action 2 cli interface ethernet 1/2
switch (config-applet)$# action 3 cli no shut

switch (config-applet)$# end

The script fails to bring up Ethernet 1/2 when Ethernet 1/1 goes down. Which change enables the script to run as
intended?

A. Set the port VLAN

B. Include an action to manually shut down Ethernet 1/1
C. Add an action to configure the terminal

D. Configure an enable action

Correct Answer: C

QUESTION 4

Refer to the exhibit.
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nx-0s59000-1% show guestshell detail
Virtual service guestshell+ detail

State : Activated
Fackage information
Name : guestshell.ova
Path : [/isanboot/bin/guestshell.ova
Application
Names : BuestShell
Installed version : 2.4(0.0)
Description : Cisco Systems Guest Shell
Resource reservation
Disk : 250 MB
Memory : 256 MB
CPU : 1% system CPUO

nx-o0s9000-1%# guestshell resize cpu 5

-— output omitted --

nx-o0s9000-1# guestshell resize rootfs 1500
—-— output omitted ——

nx-0s59000-1% show guestshell detail
Virtual service guestshell+ detail

State : Activated
Fackage information
Name : guestshell.ova
Path : /isanboot/bin/guestshell.ova
Application
Name : GuestShell
Installed version 2 2.4{0.0)
Description : Cisco Systems Guest Shell
Resource reservation
Disk : 250 MB

A network engineer deploys scripts to the guest shell of a Cisco Nexus switch. The scripts fail to operate properly due to
the limited CPU and file system resources that are assigned by default to the guest shell. The engineer allocated more
memory and disk space to the guest shell, but the application continues to fail. Which action resolves the issue?

A. Disable and enable bash shell

B. Reboot the guest shell

C. Redeploy the bash shell

D. Upgrade the guest shell

Correct Answer: B

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2018/pdf/BRKDCN-2015.pdf
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QUESTION 5

A customer has a Cisco UCS Center cluster. The customer configures LDAP as the AAA protocol and enables SSL for
LDAP. The LDAP authentication fails. Which issue is the cause of the failure?

A. The LDAP client passed an incorrect from the trustpoint.

B. The ca certificate is missing from the trustpoints.

C. The LDAP server limit that is set by an administrative authority was exceeded.

D. The LDAP time limit that is specified by either the client or the server was exceeded.

Correct Answer: B
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